Action Physics Chapter 3  Plug and Chug Test   -1-              Name _________________________________

1.
Using a scale drawing, find the resultant of the pair of velocities 175 

 East and 87 

 West.


________________________________ (Place answer here.)

2.
Using a scale drawing, find the resultant of a displacement of 82 km, North 54o West and a displacement of                             66 km, East 31o North. Place your answer in the blank


_____________________________________

3.
Using your calculator to find the resultant velocity of 325 m/sec E 25o N,  246 m/sec N 63o W,  180 m/sec W 47o N and         197 m/sec 27.5o E


_________________________________________________

4.
Using your calculator, find the magnitude of the horizontal and vertical components of a vector that is 90 units long and is at an angle which is 35o above the horizontal.


___________________Horizontal component


___________________Vertical component
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